
82 2018 Parts Catalog 

 

 
Visa / Mastercard / American Express / Discover  

$25.00 Minimum Order ------ Prices and quantities subject to change / all prices are FOB FACTORY ------ Priced in U.S. Dollars 
20% minimum restocking charge applies on returns 

HANDWASH – AGWASH 
 
 

        

  



2018 Parts Catalog 83 

 

Consult your Area Manager at: 
Tel: 1-800-883-1123 (US & Canada) Fax: 1-800-328-3334 (US & Canada) Español:  1-877-452-1187 

Website:  www.satelliteindustries.com 

HANDWASH - AGWASH 

 

REV G 
ITEM # PART# 

QTY PER 
UNIT DESCRIPTION PRICE EACH 

  40082 1 HANDWASH- AGWASH CALL 

1 22396 1 BODY/PARTS ASSEMBLY- AGWASH NOT SALEABLE  

2 12588 1 CLAMP- WORMDRIVE #12  

3 21460 1 DRAIN- AGWASH  

4 16392 37.5” HOSE- 3/4 LOW PRESSURE  

5 21462 1 INSTRUCTION- AGWASH  

6 16819 1 NOZZLE- THE WAVE  

7 21464 1 PLATE- AGWASH  

 20893 1 KIT- 800ML DISPENSR (EA) BLACK  

 20894 1 KIT- 1000ML DISPENS (EA) BLACK  

 20895 1 KIT- FOAM DISPENSER (EA) BLACK  

8 20576 1 PLUG- 3/4 EXPANDING W/TETHER  

9 16305 1 PUMP- BABY FOOT 3/8 HOSE INS  

10* 11054 4 RIVET- #68 AAL POP  

11 17505 1 SCREW- #10-24 X 1-1/2 STNLS PH  

12 21465 4 SCREW- 1/4-20 X 5/8 TRUSS SS  

13 21466 3 SCREW- 8-32 X 7/16 TRUSS PH SS  

14 16823 1 TS FITTING- 3/8 HOS X BULKHEAD  

15 16301 1 TS FITTING- 90DEG 3/8 HOSxNPTF  

16* 16304 57.5” TS HOSE- 3/8 OD TUBING  

17 11315 4 WASHER- 3/16 RIVET STNLS  

 20508 1 BOOT- BABY FOOT PUMP (BLACK)  

 21993 1 KIT- AGWASH PAPER TOWEL HASP  

 21731 1 KIT- AGWASH FASTENER  

* ONLY SOLD IN MULTIPLES OF100     

 

 

 

 

 

 

 

 

  




